FCI | SIDBI | ESIC | BANK k.2 262
__ENGLISH

MOST IMPORTANT @) g9

‘QUESTIONS

Full & Final y
REVISION _ T —
LIVE | 10:30 AM BY NITIN MAHENDRAS




o

THOUGHT OF THE DAY

MBe selective i
injour battles, /[ ;

&Y,
[}y

don't make
every problem K

4 War.,




WORD OF THE DAY

ELITE
(NOUN): (Shedi=): best

Synonyms: pick, cream
Antonyms: dregs

Example Sentence:

The elite of armed forces were invited.
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D | MEMORY BASED QUESTIONS

Directions (Q1-5): Read each sentence to find
out whether there is any grammatical error or
idiomatic error in it. The error any, will be in
one part of the sentence, the alphabetical code of
that part is the answer. If there is no error, the

answer is (e).



D | MEMORY BASED QUESTIONS

Q1. a) Mahesh hesitated in accepting the post as he /
(b) did not thought that the salary / (¢) was
enough for a man /(d) with a family of eight. / (e)

No error

Correct Option: Answer: b)
Explanation: Replace “thought” with “think"
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Q2. Three decades after it>s economy (A) / was
liberalized, India remains (B) / a complex and
challenging (C) / place to do business. (D)/ No

error (E).

Correct Option: A“It’s” is the short form of
“It is”.

But in the given sentence we need a possessive

noun “its” to showcase the relationship
between
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Q3) In the last 50 years, June rainfall has been
(A) / worst only in 2014 and in 2009, (B) /
when farmers were ravaged by (C) / the worst
drought in 37 years. (D) / No error (E)

3) Answer is: B)
Explanation: ‘worse’ should be used

instead of ‘worst’
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4) India wants more stringent (A) / data storage rules
so it can (B) / good access data and conduct (C) /
investigations when the need arises. (D) / No error (E)

4) Answer is: C)
‘better’ should be used instead of ‘good’
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Q5. a) Companies like Infosys are moving fast / (b)
on automation to ensure differentiation at a time /
(c) where the technology industry and business
models / (d) are undergoing rapid changes. / (e) No

crror

Answer: ¢)

Explanation: Replace “where . with “when’"
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6) In the summers, waterholes become dry and birds
find it difficult to quench his thirst.

01. To quench their thirst

02. At quench their thirsty

03. Quenched theirs thirst

04. For quenched them thirst

0S. No correction required

Answer: 1)

Possessive pronoun ‘Their’ is to be
used- corresponding to
‘birds’



01.
02.
03.
04.
05.
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7) Lack of financial schemes and support and
little publicity have lead to downfall of the art
form.

Leading to downfalls at
Lead in downfall of
Leads onto downfall in
Led to downfall of

No correction required

Answer: 4)
‘Led’ is followed by °to’.
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8) In romantic relationships, couples usually drag
with their foot when it comes to initiating talks
regarding marriage.

A usually drag with their feet
B usually drag their foot

C usually drag their feet
D usually dragging their feet 8) Answer is: C)
E No correction required Drag one’s feet (Idiom):

Meaning: Be deliberately slow or

reluctant to act.
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9) With revive of boat manufacture units in the village,
fisherman have a got sustainable livelihood option.

01. On revive of boat manufactured units

02. Atrevival of boat manufactures units

03. As revived of boat manufacturing units

04. With revival of boat manufacturing units

0S. No correction required

Answer: 4)
‘Revival’ should be used- a noun is

required.
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10) Investing all your money in one sector instead of
diversifying your portfolio might get your burning
fingers.

A. get your burned fingers
B. go to your burning fingers

10) Answer is: C)
Get your fingers burned
(Idiom):

To suffer unpleasant results of

C. get your fingers burned
D. go to your fingers burned
E. No correction required

an action, especially loss of
money, S0 you do not want to

do the same thing again.
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11) There are many challenges before (A)/ there is
the factor of migrant labour (B)/ the arrest
shows that (C)/ the police especially when (D)

(1) BACD
(2) BDCA
(3) CADB
(4) DBCA
(5) No change required

(3) CADB
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12) To relieve teachers and particularly children
(A)/ from facing undue stress and strain (B)/ the
continuous and comprehensive (C)/ evaluation
system must be introduced (D)

(1) ABCD
(2) CDAB
(3) DACB
(4) DBCA
(5) No change required

(2) CDAB



HOME WORK

He was unconscious and we rushed him to a

government hospital but staff there refused to treat

him as his condition was critically and his identity

would unknown.

01.
02.
03.
04.
0sS.

Critical and their identity unknown
Critical and his identity was unknown
Critically and her identity can unknown
Critical but his identity be unknown

No correction required
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Because she had a reputation for

we were surprised and

pleased when she greeted us so

A. insolence, irately

B. insouciance, cordially
C. graciousness, amiably
D. arrogance, disdainfully

E. querulousness, atfably






